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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
Paper 1
= 1 2
Time Allowed : ]Z Hours] [Maximum Marks : 100

Note :— This paper consists of fifty (50) multiple choice questions. Each question

carries two (2) marks. All questions are compulsory.

: A researcher divides the populations into post-graduates, graduates and
10+2 students and using random digit table he selects some of them from

each. This is technically called :

(A) Stratified sampling (B) Stratified random sampling
(C) Representative sampling (D) None of these
2. A researcher divides his population into certain groups and fixes the size of

each sample from each group. It is called :
(A) Stratified sample (B) Quota sample
(C) Cluster sample (D) All of these
3. Field study is related to :
(A) Real life situations (B) Experimental situations

(C) Laboratory situations (D) None of these
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4. Attributes of objects, events or things which can be measured are called :

(A) Qualitative data (B) Data

(C) Variables (D) None of these
b, In banking, ‘ATM’ stands for :

(A) Asynchronous transfer mode

(B) Any time money

(C) Automated teller machine

(D) Automatic transaction machine
6. Which of the following is not a viral disease ?

(A) Herpes (B) Epilepsy

(C) Chickenpox | (D) HIV/AIDS
7. Th;a Government of India conducts Census after every 10 years. The method

of research used in this process is :
(A) Case study ' (B) Developmental

(C) Survey : (D) Experimental

T.B.C. : T7/1T/ET—A 4
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8. Meeting of an academic association assembled at one place to discuss the

progress of its work and future plans is known as a :

(A) Conference (B) Seminar
(C) Workshop (D) Symposium
9. Ex Post Facto research means :

(A) The research is carried out after the incident
(B) The research is carried out prior to the incident
(C) The research carried out along with the happening of the incident
(D) The research carried out keeping in mind the possibilities of an
incident
10.  One kilobyte consists of ........ bytes.
(A) 500 (B) 512

(C) 1000 (D) 1024

T.B.C. : TT17T/ET—A

o



10.

w O T o FW H ya iR wfasr & Aeme % AR A 9= Fw B

fomn TFEl TN 3 AR A S @l fEw w9 A S S ¥ 2
(A) T (B) fomei-edr (HfHAR)
(C) HrEE (D) foem-Tieel (faenfsem)
T T G fad w1 woeE ¥

(A) W % WK AgHuE e W R

(B) 5ol ¥ Ugel SAfHYN fRa S ¥

(C) 5o "ed g¢ @ iy few S @

(D) =T F GuEAel # v A T g WY fEm s g

(A) 500 (B) 512
(C) 1000 (D) 1024

T.B.C.: T1/1T/ET—A T P.TO.



11.  All India Radio (A.L.R.) for broadcasting was named in the year :
(A) 1926 ' (B) 1936
(C) 1946 : (D) 1956

12. When two or more successive footnotes refer to the same work, which one

of the following expressions is used ?
(A) ibid (B) etal
(C) op.cit: D) loc.cit.
13. The research that aims at immedia-te application, is :
(A) Action Research (B) Empirical Research
_(C) Conceptual Research | (D) Fundamental Research
14. The term “TRP” associated with TV Shows stands for :
(A) Total Rating Points (B) Time Rating Points
(C) Thematic Rating Points (D) Television Rating Points
'15. Which number shall come next in the following sequence ?
9, 6, 12, 20, 30, 42, 56, <o
(A) 60 | . (B) 64
(C) T2 | M) 70
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Note :— Read the following passage and answer the questions 16-20 :

The ancient Chinese game ‘Go’, which has a very high number of possible
moves, was considered almost imposéible for a computer to beat humans two
years ago. Last year ‘Alpha Go’ (a Go programme designed by two 'Go' players)
beat the best professional Go Player-Lee Sedol in a five game matc};. Machine
learning thus breached even the bastion of strategic thought. Tmpossible Foods’,
a fourth industrial revolution technology company, makes a plant based food
that smells, tastes and looks like real meat. It threatens the future of the
$90 bi]l.iﬂn meat industry. If only 20% of world population switches from eating
real meat to alternative proteins, it would free up 12% of total fresh water,
free 400 million hectares of land and 960 megatonnes of COy emission.
Traditional manufacturing and service oriented industries are being diﬁmﬁted
in a manner we have never secen before. The first industrial revolution was
triggered by the invention of the steam engine, which lead to mechanical
production. The second industrial revolution, catalyzed by electricity and the
assembly line, made mass production feasible and was catalyzed by the
discovery of electricity and assembly line. The third industrial revolution, from
the 1960s onwards, was driven by computers, digital technology and the
internet. The fourth industrial revolution is being driven today by ten

technologies that are transforming industrial production : autonomous robots;

T.B.C.: TT1T1/ET—A 10
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simulation; big data aﬁd analytics; augmented réality; the cloud; cyber-security;
additive manufacturing; horizontal and vertical integration; the internet of
things and artificial intelligence (AI). These technologies are impacting the
entire production value chain from design to productivity, speed and quality
of production. There is widespread concern over the potential impact of the
fourth industrial revolutioh on empioyment. A vast range of jobs are at the
risk of extlnétion and rapid scaling could lead to accumulation of job losses.
The other fear is that new technologies would lead to increase in inequalities
and lack of social cohesion. Elon Musk has stated Al represents an essential
threat to humanity apd has suggested tight regulations. Bill Gate.s has said
- that robots need to be taxed to compensate for greater efficiency compared
to humans’ and has further suggested that the pace of automation should
be sldwed down. A McKinsey report estimates that 400-800 million péople
around the globe could be displaced by automation and will need to find new
jobs by 2030, for which they will require new skills. There will be considerable
need for re-skilling and training. Let us look at What new téchnologies could
do to enable Ihdia to technologically progress in a leapfrbg manner. The two
indicators holding back ease of doing business in India Back are enforcement
of contracts where India is‘164th, and registering property where India is

154th out of 190 countries. About 3 crore cases are currently pending in Indian

T.B.C. : TT/17/ET—A 12
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courts. Two-thirds of all civil cases in district courts relate to registering land.
Blockchain-based smart contracts could radically reduce litigation, briﬁg
transparency in land registry and eliminate corruption relating to land. India
has a billion biometrics on Aadhaar. We have a unique opportunity to leverage
our public identities to have many applications on a blockchain network.
.According to a report, Al will contribute as much as $15.7 trillion to the world
economy by 2030. Given India's sfrength in technology, favourable
demographics and structural advantages in the availability of advanced data,
India can be an Al pioneer, Al has the potential to add $957 billion to India’s
economy by 2035, lifting it by 15% (Accenture report). India's data dive;sity

is a big draw for global Al implementers. Al can be a game changer in the

government where “scale” and “quality” need to be addressed siniultaneously.

16.  Blockchain-based smart contracts are likely to contribute essentially to enable

| India to technologically leapfrog by :
(i) radical reduction in litigation
(i) bringing about transparency in land registry
(zi7) eliminating corruption relating to land
(A) Only () and (i) (B) Only (i) and (iii)

(C) Both (i) and (iii) (D) All of these
T.B.C.: T7/17/ET—A 14
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17. The incident that the best professional Go player Lee Sedol lost against the

computer-based Alpha Go programme indicates that :

(z) It has become possible for a computer-based program to beat human

in efficiency.

(i) Advancement in computational technology has enabled computer-based

programmes to surpass human intelligence.

(iii) Humans are gradually losing their efficiency.

(fu) Human intelligence is increasingly becoming degraded.

(A) Both (i) and (iii) " (B) Both (ii) and (iv)

(C) Both (z) and (1) (D) Both (i) and (iv)

18.  According to Elon Musk, which component of fourth industrial revolution poses

an essential threat to humanity ?

(A) Data analytics (B) Cyber security

(C) Artificial intelligence (D) Additive manufacturing

T.B.C. : TT1/ET—A 16
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19.  The potential impact of new technologies that are arising in the era of fourth

industrial revolution is that :

(i)  these would lead to extreme loss of job opportunities with a greater

likelihood of accumulation of unemployed people

(ii) these would create enough job opportunities for meeting the needs of

the class of society that is unemployed
(izz) these technologies are likely to disturb the social equality
(A) Only () (B) Only (i)
(C) Only (iii) (D) Both (i) and (iii)
20.  There is a concern that with the current pace of automation :

() no matter how efficient it might be, it can never compare to human

labour

(@) it is less efficient as compared to humans and thus is unable to serve

any essential purposes

(iii) it is likely to create considerable need for re-skilling and training for

finding new jobs

" () it is likely to replace humans in various fields leading to rapid

accumulation of unemployed people.
(A) Only (i) (B) Both (i) and (i)

(C) Only (iii) | (D) Both (iii) and (iv)
T.B.C. : T7/17/ET—A 18
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21.  The Constitution of India was adopted on :

(A) 26-1-1950 (B) 26-11-1949

(C) 15-8-1947 (D) 15-8-1950

22.  Who among the following was the first Governor-General of British India ?

(A) Lord Amherst (B) Lord William Bentinck

(C) Robert Clive (D) Sir Charles Metealfe

23.  The Chief Justice and other Judges of High Court are appointed by the :

(A) Parliament (B) Supreme Court

(C) Prime Minister | (D) President

24.  Zero was invented by :

(A) Aryabhatta (B) Varahmihir

((C) Bhaskar [ (D) Swami Vivekananda

25, Velikonda Hills, which 1s a part of Eastern Ghats, is situated in :

({A) Odhisha (B) Tamil Nadu

(C) Karnataka (D) Andhra Pradesh

T.B.C.: TT/1T/ET—A 20



21. 9Rd & WEYH I FTAH T 4T
(A) 26-1-1950 (B) 26-11-1949
(C) 15-8-1947 (D) 15-8-1950
922, Tr=fafem § @ = fafeyr wwd & wgq @R S@ 9 ?
(A) wE TER B) e fafemy dféw
(€) e Felred (D) ® = HewE
23. WA =Y R T=T TEeE & o =i #ORE E s 7 2
(A) HET - B W FR
(C) W HA (D) regafa
24. I F wfawr fEed e e ?
(A) @rEwg (B) aRmMie
(C) o= 1 (D) w@rl foesrg
5. Jeeiel feew, W oo e w1 fewwm %, AW wsa H feum § 2
I (A) @ffen (B) dfderrg

(C) =iz (D) 3Ny WY

T.B.C.: 7717T/ET—A 21 P.T.O.



26. Which one among the following states shares boundaries with the laréest

number of states ?
(A) Madhya Pradesh (B) U.P.
- (C) Maharashtra (D) Assam

97.  The timber of which of the following trees is used for making cricket

bats ?
(A) Deodal (B) Sal

(C) Teak (D) Willow
28. GDP means : |
(A) Gross Domestic Product
(B) Global Depository Product
(C) Global Development Place
(D) Geographically Developed Place
'~ 929. Vinegar contains :
(A) Acetic acid | (B) Lactic acid ‘
(C) Citric acid (D) Methanoic acid
30. The first talkie film in India was :
(A) Alam Ara (B) Raja Harishchandra

(C) Jhansi ki Rani (D) Chandidas

T.B.C:: TT/1T/ET—A | 22
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31.

32.

33.

34.

35.

The Central Leather Research Institute (CLRI) is located in which state ?
(A.} Kerala (B) Tamil Nadu

(C) Sikkim (D) West Bengal

The World Environment Day is celebrated every year on :

(A) June 5 (B) July 4

(C) Aug. 15 (D) Oct. 4

Murari has a total of Rs. 210 in one-rupee, 50 paisa and 25 paisa coins. They

were in the ratio 2.5 : 3 : 4. How many one rupee coins were there ?
(A) 105 (B) 82
(C) 102 D) 92

Which is largest amongst 5/8, 2/3, 7/9, 3/5 ?

(A) 58 (B) 23

(C) 3/5 (D) 7/9
Which one is the odd number in the series ?

154, 235, 352, 460, 324
(A) 154 (B) 324

(C) 235 (D) 460

T.B.C. : T7/17/ET—A 24



31, ded oex fgd e (Vowemen) fee T A fem ® 2
(A) FE (B) THETE
(C) faferu (D) wfv=H =
39, fava vHiown feew ® w@ w9 feT we Sm ¥ ?
(A) 5 (B) 4 S
(C) 15 T (D) 4 RS

33, gm”ta‘atrra@*zmwﬁﬁﬁm,snﬁﬁﬁr{zﬁﬁﬁﬁﬁa@%rfﬂaﬁm
FAUE 2.5 : 3 @ 4 HE: o) THH W TH TUH & fmed e 4 7

(A) 105 (B) 82
(C) 102 (D) 92
34, 5/8, 23, 7/9, 3/5 H = TR FY HAA T 7
(A) 5/8 (B) 2/3
(C) 3/5 (D) 719
35. s@e § e o qwm oy 7
154, 235, 352, 460, 324
(A) 154 (B) 324

(C) 235 (D) 460
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36.

a7.

38.

39.

40.

1700 millilitres = ....ccccovvvueennee. ?

(A) 1.7 litre (B) 1.07 litre
(C) 170 litres (D) 17 litres
Thesaurus tool in MS Word is used for :

(A) Spelling suggestions

(B) Synonyms and Antonyms Words

(C) Translation

(D) None of the above

Which of the following can be used to select the entire document ?
(A) Ctrl + A (B) Shift + A
(C) Alt + Fb (D) Ctrl + K

You may accidently erase a record in the sheet. What command can be used

to restore it immediately ?

(A) Insert (B) Replace
(C) Copy (D) Undo

A computer on internet is identified by :

(A) E-mail address (B) IP address

(C) Street address (D) None of these
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36.

37.

38.

39.

40.

(A) 1.7 ¥R (B) 1.07 ®X
(C) 170 #X (D) 17 ®=
mE.-aE # fomtm @ e o wgE @ o
(A) oA gEd

(B) marmeft 3l faudanet wreg

(C) 3R

(D) 3w § | 6 T

freforfion § @ FFE g TEEE w9 w0 § O Ea wa S ahd
% ?

(A) Ctrl + A (B) Shift + A
(C) Alt + F5 (D) Ctrl + K

mm@ﬁmﬁﬁﬁmﬁwm%w@ﬁiﬁmmﬁ%mm

FAUE F AT R W HEA ¥ ?
(A) TH (B) frer
(C) I (D) 35
S W FHE F UedH ol @

(A) 3-9d T EN (B) #E.dl. Wl gN

(C) =ie ua g (D) &8 ¥ =g T
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41, 40% of & is :
(A) 4 (B) 0.2
(C) 2 (D) 0.02

42. A and B are brother and sister respectively. C is A’s father, D is C's sister

and E is D’s mother. How is B related to E ?
(A) Grand-daughter (B) Aunt
(C) Great-grand-daughter (D) Daughter
43.  Which of the following is a state university ?
(A) Banaras Hindu University (B) Tezpur University
(C) Delhi University (D) Madras University
44.  Kathakali, Mohiniattam and Ottamthullal are the famous dances of :
(A) Kerala (B) Orissa
(C) Karnataka (D) Tamil Nadu
45.  The absorption of ink by blotting paper involves :
(A) viscosity nfl ink
(B) capillary action phenomenon
(C) diffusion of ink through the blotting

(D) siphon action
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41.

42.

43.

44.

45.

5 w1 40% fwanm & ?
(A) 4 (B) 0.2
(c) 2 (D) 0.02

qai"na’rﬂﬁﬁnaﬁm:%‘lﬁt{wﬁm%,?ﬁzﬁaﬁaﬁaﬂ?éﬁﬁﬁ
@, YN TE@ e ?

(A) Tt (B) ==l

(C) Tg bl (D) =&

fr= § @ Frw o fawafagaea g 7

(a) =T fig FavafaarE (B) TSI fereafeaame™
() feeeh favafagarem D) e favafaeEe
Ewﬁ,ﬁrﬁ@aﬂiaﬁsﬂwm—ﬁﬁﬁ%?

A) wd e
(B) fuerl fFan &1 =
(C) Bew & T § @R TR

(D) G foa

TB.C.: TT/1T/ET—A 29 | P.T.O.



46. The reaction which converts sugar solution into alcohol is an example :

(A) Saponification

(C) Fermentation

(B) Hydrogenation
(D) Hydrolysis

47. The normal blood pressure of human being is :

(A) 120/80
(C) 180/40

(B) 200/120
(D) 80/120

48. The oldest tennis tournament in the world is :
(A) Wimbledon . (B) Australian Open
(C)  French Open (D) US. Open
Directions for Q. Nos. 49 and 50 :

The following table shows the distribution of students at graduate and
post-graduate levels in seven different institutes (M, N, P, Q, R, S and T)
in a town. ' :

Total Number| Percentage of Students in Institutes

ofstudents | M | N | P | Q | R | S T

Graduate Students| 27,300 | 17% | 12% | 12% | 13% | 17% | 14% | 15%
Post-graduate | 24,700 | 8% | 15% | 12% | 13% | 14% | 21% | 17%

Students

49. What is the total number of graduate and post-graduate level students in
institute R ?

(A) 8320 - : (B) 9116
(C) 7916 | D) 8099

50. What is the ratio between the number of students studying at post-graduate
and graduate levels respectively from institute S ?

(A) 14 : 19 ' (B) 17 : 21
(C) 19: 21 M) 19 : 14
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46, VAT F Teded o TREfid w1 TH ST ©

(A) TdifafwayA (B) eI
(C) T | (D) TS
A7. TF THHA H EE WA SRS
(A) 120/80 (B) 200/120
(C) 180/40 (D) 80/120
48. .gﬁmmmwiﬁaa’rﬁzW%’ ?
INIRCECES] (B) oRfaEs v
(C) %a 3 D) FTE. S

w99 . 49 i 50 & fow fegn-fder -

2 @ T afeE UE R % 9 o S (W, ™, W, 9, SR, T A
) § e SR TTERRR B & fee S g

BTAL il el weerrt o faganfeat @t wtagraar
e W | w | @ | w | em || @

2

ESIREAEIE 27,300 17% | 12% | 12% | 13% | 17% | 14% | 156%

LS IREIREEEIE 24,700 8% | 15% | 12% | 13% | 14% | 21% | 17%
49, ‘o’ o § TR 9 EEeRR R % SEl w Ee el fhad ¥ 2

(A) 8320 . (B) 9116
(C) 7916 | (D) 8099
50. EF TE ¥ HA: EaERR @R = W O TgY ol S Gl §edl & Sl
U % ? |
(A) 14 :19 | (B) 17:21
(©) 19 : 21 - D 19:14

T.B.C. : TT1TET—A Bl : PTO.



